MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901  FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/bulding

Greenheck Fan Corporation ‘

P.O. Box 410

Schofield, WI 54476

ScopE: This NOA is being issued under the applicable rules and regulations governing the use of
construction materials. The documentation submitted has been reviewed by Miami-Dade County Product
Control Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County
and other areas where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Model EHH-601D Aluminum Louver with and without VCD-40 Damper

APPROVAL DOCUMENT: Drawing No. EHH-601D, titled “EHH-601D Louver”, sheets 1 through 21 of
21, dated 08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E., bearing the
Miami-Dade County Product Control revision stamp with the Notice of Acceptance number and revision date
by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Schofield, W1
and following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 08-0229.06 and consists of this page 1 and evidence pages E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No 10-0921.10

Expiration Date: November 01, 2012
Approval Date: December 16, 2010
Page 1




Greenheck Fan Corporation

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

DRAWINGS

1. Manufacturer's die drawings and sections.

2. Drawing No. EHH-601D, titled “EHH-601D Louver”, sheets 1 through 21 of 21, dated
08/25/10, prepared by Rice Engineering, signed and sealed by L. David Rice, P.E.

TESTS “Submitted under NOA # 08-0229.06”

1. Test report on Modified Wind Driven Rain Resistance TAS 1 10(A)-95 (Louvers Checklist #
0240), prepared by Architectural Testing, Inc., Test Report No. 79201.01-109-18, dated
02/05/08, signed and sealed by Michael D. Stremmel, P.E.

“Submitted under NOA # 07-0925.02”
2, Test reports on 1) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
3) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of Series/Model EHH-601D, fixed
aluminum louvers, prepared by Architectural Testing, Inc., Test Report No. 74301.01-602-18,
dated 09/04/07, signed and sealed by J oseph A. Reed, P.E.
3. Test report on Standard Test Methods for Tensile Testing of Metallic Materials, per ASTM
E8-03, prepared by Architectural Testing, Inc., Test Report N0.74301.02-602-18, dated
09/12/07, signed and sealed by Joseph A. Reed, P.E.

CALCULATIONS
1. Structural calculations, prepared by Rice Engineering, dated 09/03/10, signed and sealed by L.
David Rice, P.E.

QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO)

MATERIAL CERTIFICATIONS

1. None,

STATEMENTS

1. Statement letter of conformance with FBC 2007, issued by Rice Engineering, dated 09/03/10,
signed and sealed by L. David Rice, P.E.

2. Statement letter of no financial interest issued by Rice Engineering, dated 09/03/10, signed
and sealed by L. David Rice, P.E.

3. Statement letter of conformance issued by Architectural Testing, Inc., dated 02/08/08, signed
and sealed by Michael D. Stremmel, P.E. A "
“Submitted under NOA # 08-0229.06” ‘/”M il /éi'//d?

/ Carlos M. Utr'era, P.E.
Product Control Examiner

NOA No 10-0921.10

Expiration Date: November 01, 2012
Approval Date: December 16, 2010



NOILVATT <) 8
a109—HH3 - 2 N
| INNOW 3A3TTS ST N
ON_ONIAVNE (VD Neg33: 895\
AANVH4 FONV 14 ReZ2548 S8 o
L 40 | 52320 55 8
d3ANOT AL09—HH3 O3gS8e ©3 %
ON_133HS 37111 E Z 58y € 25,2
v 0170-9/¥%S NISNOJSIM O R2265xs EogS
37v3S ‘013140H3S 0% XD4'0d = °c2x8¢s mmmm
TED2
s S, . HOBHNEED S .
. N
., (Vo)
o
&
) [Zp]
R G
= _ lu e
ju 1 89
B R ! 8y
B G
00
SR
i
t
0
)
g
28
.2
- HHHHHHHHHHH”HHHH“HHHHHHHHHHHHHHHHHHHHHHI..HI.II-I|.IIII||1| mm
g3
z
z 3
8 i2e 8
W_S - ”HHHHHHHHHHHHHHHHHHHHHHH”HHHHHHHHHHHHHHHHHHHHHHHHHHHHH WW._H m
29 83 5 3
O N
& W
—
U
& &
BE
<Q
ILl 1 A o s e s e o o e o o e A e A o e e e e A o o v B o e M”
T
Aﬁ/um|_
9W .
G
[—— E— I..d «
p—— !
Lo
9610 LHOI3H ¥3AN0T WNLOV "XVW 000+ 1L 9610 %m
e s LHOI3H 3A3IIS 40 3AISINO XYW €1CbhL e, S"
LHOI3H ONIN3dO ¥3ANOT JL




O 8
dL09—HHT NOILVATT3 = 2 /
ON_ONIAWAT @v2 Mmmmm e mm A
INNOW JTONY SNONNILNOD Re2558 S8 g
L 40 ¢ 53220 59 ¢
d3ANOT ALO9—HH3 O3gf88e =35 T
'ON_133HS 3L E 58y € 85,2
Al 0170-9/¥+S NISNOJSIM 2o mxm Eog§
7577 ERUAN ‘@I314OHIS OTF XDg'Dd m °2x = 8zp
oLoz/Se¢/8| s 2E8%
31V w_m§z>¢% %@@E@@@@@ S~ 589 8

-

AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA& J

&

L/as__. _J
VERTICA
CRQOSS SECTION

U

m ® E®
&

0.125 TYP
TO 0.375

1
i
1
]
|
]
]
1
]
1
|
1
]
l
I
]
72.000 MAX. ACTUAL
LOUVER WIDTH

L.
[
14
LI
Il
[
L]
IT
I
1
!
[
|
]
!
!
!
|
1
]
1
i
i
|
]
|
!
!
|
I
]
|
I
]
i
|
]
.'
!
]
i
!
|
]
1
]
72.000 MAX. ACTUAL
LOUVER WIDTH
UNLIMITED LOUVER OPENING WIDTH

-
)

l

l
|

(14
1/2J HORIZONTA
ﬂ m CROSS SECTION
A7 N V4 75,
I

L
—

L
|
!
]
i
{
1
|
1
]
]
]
]
I
!
!
|
i
|
I
i
i
|
]
!
!
]
i
I
1
]
!
i
]
i
|
|
]
!
!
]
|
]
1
i
72.000 MAX. ACTUAL
LOUVER WIDTH

D
I
L

l
I
L

1HOI3H M3IANOT WNLOY XYW 000"+ L

SL£°0 0L S/§°0 OL
ST ezlo ‘dAl sZI'0 T

0.125 TYP,
TO 0.375

IHOI3H ONIN3dO ¥3ANOT




0.250 TYP,
TO 0.50
0.156

1

HORIZONTAL

CROSS SECTION

1k

T

]

vy

|

=1 N

| I Y

t
L

e

LOUVER OPENING HEIGHT

144.313 MAX. OUTSIDE OF SLEEVE HEIGHT
144.000 MAX. ACTUAL LOUVER HEIGHT

0.156

0.250 TYP,

—=1-=— 0.156
36.000 MAX. ACTUAL

LOUVER WIDTH

36.000 MAX. ACTUAL

LOUVER WIDTH

36.000 MAX. ACTUAL

LOUVER WIDTH

OUTSIDE OF SLEEVE WIDTH

UNLIMITED LOUVER OPENING WIDTH

36.000 MAX. ACTUAL _ |

LOUVER WIDTH

36.000 MAX. ACTUAL

LOUVER WIDTH

0.156 —=f=—

36.000 MAX. ACTUAL
LOUVER WIDTH

PRODUCT KEVISED

5

e

(L pep—

VERTICAL
CROSS SECTION

0.125 TYP,
TO 0.375

It m
! ¥‘

SEP 0 3 2010/

O
O
N
} —
LN N )
AN v
= L . O
O | O
ool o
| NE M 2 T
=l F L
5 B g W
O
. <t
Ag| |
S2EI| O
SEY C
S+ N W =
Ewu‘g = s Z
%S’z < 2 Z
@q-'—' o O O
v WL = E
W<z > <
@mu 2 W >
a3 — Z W d
ﬁ (|
) 1
— bwm
O
O
1
T
=L
=

RICE

ENGINEERING

105 Schoot Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 y




HORIZONTAL
CROSS SECTION

E

14
)
T

A iy

v
r‘—‘uﬁ

T

f

- —
(=

LOUVER OPENING HEIGHT

0.125 TYP, o
10 0.375 —

144.000 MAX. ACTUAL LOUVER HEIGHT

%lﬂ
~
n
go'
Se

f 0125 v, _ |

TO 0.375
36.000 MAX. ACTUAL 36.000 MAX. ACTUAL 36.000 MAX. ACTUAL
LOUVER WIDTH LOUVER WIDTH LOUVER WIDTH
0.125 TYP, 36.000 MAX. ACTUAL 36.000 MAX. ACTUAL 36.000 MAX. ACTUAL

TO 0.375

?

LOUVER WIDTH

UNLIMITED LOUVER OPENING WIDTH

LOUVER WIDTH

LOUVER WIDTH

VERTICAL
CROSS SECTION

Cn

(@]
o
N
N —
= Q\ O
I—\ —
S 0 L. O
[
O |2 ©
o sl
g Y2 T
:=w"lp BT
s 5 & 2 L
(=] [%%) (7] (@8]
o
.Y =
/el 1 =
=hy o 5
Oy 2 3
@DQ =
T \
X33 =
%D”’ _1 pd
g oz 2
= o
I_
Wxzl > < <
@mu - >
ax - D d
o
i
5 2
L &
T
wr ©
=
=
ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 ///




— 0.125

s

(2

HEAD DETAIL
LOUVER HEIGHT < 144 IN.

.125

1257 17"=10"

/

(BY OTHERS).

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT
LIMITED TO WOOD FRAME, STEEL STUDS,
STRUCTURAL STEEL AND CONCRETE/MASONRY

6" 0.C.
SPACING

A

LOUVER OPENING

r<—

—e [=—0.125 TYP, TO 0.375
=1 | =—0.25 TYP, TO 0.50

k- 0.156

8/CONNECTI
N

ON

OUTSIDE OF SLEEVE
ACTUAL LOUVER HEIGHT,

INSIDE OF SLEEVE

2

@\

TYPICAL @ BLADES

12571

Il
I

S

A25,7°2 172
125

17-10

6" 0.C.
SPACING

ALTERNATE REAR WELD LOCATION
125,/ 0.75"

o

4) 1/HEAD,BLADE,SILL

ALTERNATE REAR WELD LOCATION
125]/0.75"

18" 0.C.
SPACING

° &

4|

0.125 TYP, TO 0.375 —c

0.25 TYP, TO 0.50 —e

0.125 —c

0.156 —f=~

[y

SILL DETAIL

LOUVER HEIGHT < 144 IN.

/|

BUILDING STRUCTURE/DEPTH MAY VARY.
BUILDING STRUCTURES INCLUDE BUT NOT
LIMITED TO WOOD FRAME, STEEL STUDS,
STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

(2

HEAD DETAIL
LOUVER HEIGHT < 144 IN.

(152

8/25/2010

DATE

o> OF 21

MES
1:2
CAD DRAWING NO.

SHEET NO.

EHH—-601D

DRAWN BY
SCALE

P.0.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

GIRIEENHIECK

FLANGE FRAME
SLEEVE MOUNT

PRODUCT REVISED
a5 comply g with s Floride

§ WELD PERIMETER
@ CAP

SILL DETAIL
LOUVER HEIGHT < 144 IN.

EHH—601D LOUVER
HEAD & SILL DETAILS, H<144”

TITLE

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, W! 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923

§Lrgr

”
I . 5,
£ / o
R by o/ e

] =
; B Rl oid SRS~
=, oS TATE OF s
%) =
A S
S,

TSy
M
\\"‘f,,\ % B

.
)
<

"‘::::/\ oRr ‘\\h:zi;.):‘“”: g&,: -
S
AONAL &3

SEP 03 2010”7

Mgyt




HEAD DETAIL
m LOUVER HEIGHT < 96 IN.

BUILDING STRUCTURE/DEPTH MAY VARY.
L BUILDING STRUCTURES INCLUDE BUT NOT

SILL DETAL
m LOUVER HEIGHT < 96 IN.

o LIMTED TO WOOD FRAME, STEEL STUDS,
3 4
S g W STRUCTURAL STEEL AND CONCRETE/MASONRY
=) (BY OTHERS).
Qs -
a
% | ©
S \ 557 T8 6,/CONNECTION
priiph
S 3 4 125/ 17=10" -
bty s P AL N = S
— V.4
T valiTisi
12571
suhs
\ b
GI“" 0 "‘ :"
0) .‘)‘ | ALTERNATE REAR WELD LOCATION
A25]/1 NAY ‘» 125]/0.75"
STE
I o
| | O
FBEZTIPICAL @ BLADES SN 1
2571 ‘
w I
2 g @s
= Y Yy ALTERNATE BLADE REAR WELD
& ? xn
S uwo Y
o 53
€ w3
Q L
T
T 382
S
' ST
& A25]72 /7 T3 T=T0"
i , =
— ‘
?nn b )
B85 S (39
no o il @ 6/CONNECTION
e B '
£
2 » BUILDING STRUCTURE/DEPTH MAY VARY.
9 8 | BUILDING STRUCTURES INCLUDE BUT NOT
5

/ LIMITED TO WOOD FRAME, STEEL STUDS,

STRUCTURAL STEEL AND CONCRETE/MASONRY
(BY OTHERS).

HEAD DETAIL
38 \ LOUVER HEIGHT < 96 IN. /@2

)
S

—

= 4 WELD
INTERIOR
@ CAP

8/25/2010

DATE

6 OF 21

MES
1:2
CAD DRAWING NO.

SHEET NO.

EHH—-601D

DRAWN BY
SCALE

P.0.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

GIRIEENIRIECIK

FLANGE FRAME
SLEEVE MOUNT

by

2

§ WELD INTERIOR

SILL DETAIL

LOUVER HEIGHT < 96 IN.

@ CAP

FHH—601D LOUVER
HEAD & SILL DETAILS, H<L96”

ENGINEERING
105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061

Certificate of Authorization: #9090
L. David Rice
Registration No: 50923




HEAD DETAIL
m LOUVER HEIGHT < 144 IN.

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

LOUVER OPENING

0.125 TYP, TO 0.375—o| ——

ACTUAL LOUVER HEIGHT

®\

FASTENER EDGE _§

DISTANCE

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED
BY USE OF HOLES IN THE MULLION END CAP.
DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

HEAD DET/

[\ LOOVER HEIGHT < 98 N,

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

FASTENER EDGE
DISTANCE

<o

fe
e

ALTERNATE REAR WELD LOCATION

125,/ 0.75"

o

1/BLADE,HEAD,SILL

ALTERNATE REAR WELD LOCATION

° &

"o

1257 0.75"

18" 0.C.
SPACING

%o./

LOUVER OPENING

/®

6728 8/END

18

0.125 TYP, TO 0.375——°| fa—

ACTUAL LOUVER HEIGHT

MULLION DIRECT MOUNT (SHOWN HERE AT
HEAD) IS FOR SUBSTRATES WHERE MINIMUM
FASTENER EDGE DISTANCE CAN BE ACHIEVED

BY USE OF HOLES IN THE MULLION END CAP.

DETAIL IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

A25/1

18" 0 C.
SPACING

o

1/BLADE,HEAD,SLL

ALTERNATE REAR WELD{ LOCHT
128]/0.75"

A3

| €7@ 6/END

/@

el po— 0.125 TYP, TO 0.375

SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

SILL DETAIL
8 LOUVER HEIGHT < 144 IN.

) o

\

EXCESS MATERIAL BEYOND FASTENER
EDGE DISTANCE IS ALLOWED TO BE

l/ﬁ REMOVED (THIS LEG ONLY).

MULLION ANGLE MOUNT (SHOWN HERE AT SILL)
IS FOR SUBSTRATES WHERE MINIMUM FASTENER
EDGE DISTANCE CANNOT BE ACHIEVED BY USE
OF HOLES IN THE MULLION END CAP.
IS TYPICAL FOR BOTH HEAD AND SILL
CONDITIONS WHEN APPLICABLE.

DETAIL

—o{ j=—0.125 TYP, TO 0.375

SUBSTRATE LIMITED TO wOOD,
STEEL, CONCRETE AND
MASONRY (CMU) (BY OTHERS).

SILL DETAIL '
a LOUVER HEIGHT < 868 IN,

EDGE

<y
<

EDGE DISTANC
ammi—h O HOLES N

IS TYPICAL FO

EXCESS MATERIAL BEYOND FASTENER

DISTANCE IS ALLOWED TO BE

,P REMOVED (THIS LEG ONLY).

| MULLION ANGLE MOUNT (SHOWN HERE AT SILL)
IS FOR SUBSTRATES WHERE MINIMUM FASTENER

E CANNOT BE ACHIEVED BY USE
THE MULLION END CAP. DETAIL
R BOTH HEAD AND SILL

CONDITIONS WHEN APPLICABLE.

PRODUCT REVISED

O
O
N
N —
< Q\ M
Lol
E\ —
= 0 |_|_le
O |2 ©
2 |
(/') - —
> L] r‘f_j-%,\z:[
==l BT
s 5k RBY
< ‘o
Ao E‘J'Od
b =ENIAY
@E\'o r Q r L
MEI\UJE .
(_)g> -
Ei}z; 2 o) DO wlowm 1
=cs2 O 52 <
m?E—JCZD<EI—
@mUv— o)
@E].Z’.O(f) _d
Azl O DO 4 _1
| © =2 »
Izm
I
u.;Eo?SoB
Z [
O O <
L O < W
- LI.!I
= T
i__

RICE

ENGINEERING
105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Florida Firm No: F-01000005061

Certificate of Authorization: #909
L. David Rice
Registration No: 50923

«
e’

NG
‘!a

STATE OF #4493

-...L ORION: \\é’?\\“
¢ PV >
7y 2 =

\
i




S
®)
~N
\ ~—
X N )
Li-lll\ ~
<C
= 00 L O
=
QO |2 O
2 |
0l «la =
O
§ = L L'TJ % I
-
s 5 I g U
a [%2] (%) 48]
12” 0.C. N
SPACING o
S nh
RS |
Y 128/ 178 @ ‘E-I ﬁ 5
IULJ'] 5 < > W = %6
i)
> » 2 o o < D p—
x 6" O.C. 2zl Y ¥ O <
- SPACING L R S
OS5 D n H\JQI <&l O 0O
%Z = < ! ' 0, = | @ B8 — W
S5E D 5 = = 5 S @:m o O > m
)_mmm 15; = H = Az O Z Wl =
Suge !, 0, 0, \ | W
Qo , T T a5
TDEZ <__@ 6” 0.C.
o8 SPACING T
GZu 1/ BLADE,HEAD,SILL L
o~ <§( %
gEE= . @ .
| [: -
55 =
% ;V_._.,_ —
T g v . E 95735
= = dwn
Seo 20 E RICE
ZZaEE ENGINEERING
WO o
99£2 ———@ 105 School Creek Trail
S553E5 ~ Luxemburg, W1 54217
oD@mJn— Phone: 920.845.1042
| Fax:.  920.845.1048
c - www.rice-inc.com
Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
ACTUAL OVERALL LOUVER WIDTH, Registroﬂon No: 50923
0.156 ~#| |=———— ACTUAL LOUVER SECTION WIDTH, —
INSIDE OF SLEEVE
0.125 TYP, TO 0.375 —= OUTSIDE OF SLEEVE PRODUCT REVISED

[~+————— LOUVER OPENING

SUPPORT DETAIL
m JAMB DETAIL m LOUVER HEIGHT < 144 IN.

K4 4 é:‘:éii,.

’ K o &a {q
& #2,,; /gsllgl\}’;&L ?j\é\\@
SEP 0 5 2010 e




SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY

(CMU) (BY OTHERS).

AN

<Z T T
ALTERNATE ORIENTATION /_]

(CAUTION, BOLT CLEARANCE)

0.75 MAX
__T'/'STMIN 6" O.C. 1/BLADE,HEAD’S|LL
] SPACING

! .

-'ﬁ":_#l__:
S

(T2 TTN

.125|7 2.5

ﬂﬂﬂﬂmlﬂﬂﬂgfﬂﬂﬂ

e
&

pp

0.125 TYP, TO 0.375 —=

1

ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH

LOUVER OPENING

pe
hS

JAMB DETAIL

SUPPORT DETAIL
LOUVER HEIGHT < 144 IN. /1—2\ LOUVER HEIGHT < 96 IN.

SEP 0 3 2010

O
O
N
N —
& N -
Lol
’E\ —
= 0 L - O
O | ©
ol o o B
> Ll Ng O zZ T
=l BT
z | a
8 & S
no E
SR
L L o
MR W =
oY = n
=3, O d =
U] ~ = I
2 L
%ém n < &
MmO —
@Ejﬂ o m m
o=l O D =
| O <
T— O -
I £
W =
Z
@)
W @
-
=
'_

ENGINEERING
105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice //

Registration No: 50923
NETY
\\\\\ .
\\\\\ ‘@ ?x\jaﬁ / o7
VIACEHS




18" 0.C.
SPACING

8" O.C.
SPACING

1

AN NN NN NN

©

18" 0.C.
SPACING

© © O

kS

SOV NN NNNN N

< DU

aes \§
]| N
=N

S e o M

&2 11

% .125[7 2.5

g

N gO00000000%

a0

-9

@
&

3

i

ACTUAL LOUVER SECTION WIDTH -————{-==——— ACTUAL LOUVER SECTION WIDTH

EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
LOUVER HEIGHT < 144 IN.

18" 0.C.
SPACING

2)@3—~

6,/CONNECTION

6" 0.C.
SPACING

MAX. 4.250 f~—

4

7 .125|7 2.5

Q
of

ACTUAL LOUVER SECTION WIDTH

@ EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

ACTUAL LOUVER SECTION WIDTH

ACTUAL OVERALL LOUVER WIDTH

MULLION DETAIL
@ LOUVER HEIGHT < 96 IN.

SEP 0 3 2010

8/25/2010

DATE

10 OF 27

MES
1:2
CAD DRAWING NO.

SHEET NQO.

EHH—-601D

DRAWN BY
SCALE

P.O.BOX 410 SCHOFIELD,
WISCONSIN 54476-0410

GIRISENIAIECK

EHH—-601D LOUVER
FLANGE FRAME
SLEEVE MOUNT
MULLION DETAILS

TITLE

ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923




JVLSH 'STIVLIIA NOITTINA © &
AdL09—HH . _ 8 ///
TR INNOW FTONV SNONNILNOD m_mmw_m ; mm
RNECs5ss S8 o
Z 52326 56 2
¢ 0 L MIANOT AL09—HH3 S5eRsg <5 °
ON_133HS UL = 5Es 2 25,2
cZil 01¥0-9/%%S NISNOJSIM SEE R W EolS
3wos|  ‘0713140HIS 01y XO4'0'd FI.V S3£8% £Bo%
0lL0c¢/G¢/8 SAN DEbg
/ “._Aé AL NAVYQ M\\@@E%@@@@ < 2858

HIGIM NOILO3S ¥3ANOT VNIV

HLIOM ¥3ANGT TIVYIA0 TVNLoV

AVN G2°0 OL dN 40 INIOr NOISNVdX3

"SHLIJIM TIVY3IA0 ONOT NO @g3sn 38 i/-Mw b

HLIGM NOLLOIS ¥IANOT TVNLOV

9

-
)
&

el /@

PRODUCT REVISED

ONIOVdS

| M mﬂ.\®.o.o «9

O

. jisi g

39d3 m:.,qwﬁmm_am

+ mwO |||||

O O O O

3ONVISIQ
3503 ¥3INALSVS

HItL TS I 4

9NIOVdS
00 .8l gNn3/8

Nvi3d  "dvO AON3 NOIMINW 3HL NI S3T0H J4O
3SN A8 Q3AJIHOV 38 LONNVD 3JONVISId 3903
YIANILSYS WNWININ JUIHM SILvHISENS HO4 SI
(TS _1v _3¥3H NMOHS) INNOW I1ONV NOITINW

378vOlddY N3HM SNOILIONOD
THS ANV QV3IH HLO8 ¥04 TvOidAL SI

HIGIM NOUWDJ3S ¥3IANGT TWNLOY

HIQIM ¥3AN0T TVY3A0 TVYNLDY

AVA G20 Ol dn 40 INIOF NOISNYdX3

"SHIQIM TIVH3A0 ONOT NO g3sn 39 |/— h ¥®

HIGIM NOWD3S ¥3ANOT TVnLOY

&

S

ORI /@

0 .9

LD

ONIOVdS

3003 3ivdlsdns

é

MAX. 4.250

S NN NN NNNN NN
AN AN NN NNNN

O O O O

3ONvVISIg
3903 ¥3N3iSVI

MULLION DETALL
m LOUVER HEIGHT < 144 IN.

ONIOVdS
00 .81

‘318v0I1ddY NIHM

SNOILIGNOD TTIS ONV aQv3iH HLO8 ¥04 TwiIdAL
SI v13a  'dvD ON3 NOITINW 3HL NI S310H
40 3sn A8 Q3A3IHOV 38 NVD 3ONVISId 3903
YIANILSV] WNAININ JYIHM S3IVYISANS ¥04 Si
(7S 1V 343H NMOHS) INNOW 103¥IG NOITINW

LOUVER HEIGHT < 144 IN,

MULLION DETAIL

148

SEP 0 3 2010




, 96>H ‘STvI3A NOITIN & g
A109—HH3 = LN
'ON_DNIMVE 0v3 N F19NY SAOANIIN m.mmwm _ 25 L
INNOW J19 SNONNILNOD RNe’558 88 g
Z 535323 58 &
¢ 40 ¢l 43ANOT QLO9—HH3 S3oH8E 15 °
'ON_133HS 31411 E s e8y € 25,2
Szl 0170-9/¥%S NISNDOJSIM O K225 W Eozd
T3S CI3140HIS 0T¢ XO4'0'd N S3&¢P% ©381%
010z/S2/8] San SEZE
/ H,_Aé AL_NMYYT %@@E%@MN@@ < 208

HIQIM Y3AN0T TVH3A0 TVNLOV

HIQIM NOLD3S ¥3ANOT TWNLOV

'SHIQIM TIVY3IA0 ONOT NO a3sn 34
AV SZ°0 OL dN dJO LINIOr NOISNVJIX3

e

HIQIM NOLD3S ¥IANOT TVNLOV

\@

iz

"o

ONCCT REVISED
with the Flcride

/B

ONIOVJS
‘00 .9

I

3ONVISIT

‘

&

e

ONIDOVS
'0°0 .8l
aN3/9

"318v0Iddy NIHM SNOILIONOD

TUS ONV Qv3H H108 804 WOIdAL Sl
VLA "dvO AN3 NOIMINW 3HL NI SIT0H 40
3SN A9 Q3AIIHOV 38 IONNVD IDNVISI 3943
YANILSYS WNWNININ FYIHM SILvHLISANS H0d S
(TUS 1v 3¥3H NMOHS) INNOW JTONY NOITINA

HIQIM NOLLD3S ¥3AN0T VNIV

HIQIM A3AN0T TIVH3A0 TVNLOY

‘SHLAIM TIVY3A0 ONO1 NO @3sn 38
AVWN GZ°0 Ol dn 40 LINIOP NOISNVdX3

HLJIM NOLLD3S ¥3ANOT TVNLOV

=

[4— MAX. 3.500

i I

3ONVISIO
3903 ¥3IN3Lsvd

MULLION DETAIL

E4
©
-]
A
£
[
[n]
I
Q

3003 Y3IN3isvd

MULLION DETAIL
m LOUVER HEIGHT < 96 IN.

158

ONIOVdS
00 .81

R

/
ERICE m_._.<w_._.mm_3m\ @\ @\ | |
&

"378v0rlddy NIHM

SNOILIONOD T1IS ANV Av3H HLO8 ¥04 IvOIdAL
SI 1vi3d  "dvd ON3 NOIMNW 3IHL NI SII0H
40 3SN A8 Q3A3IHOV 38 NVD 3JONVLSIQ 3903
J3INILSV] WNAININ JYIHM SILvHLSEnS ¥04 Si
(TIIS Lv 343H NMOHS) INNOW LO3¥Id NOMINW

SEP 0 3 2010




HEAD DETAIL
18 LOUVER HEIGHT < 144 IN,

6" 0.C.
SPACING &)~

6" 0.C.
SPACING

! &l

125

SILL DETAL
m LOUVER HEIGHT < 144 IN.

17-8

HEAD DETAIL
18 LOUVER HEIGHT < 144 IN.

8" 0.C.
SPACING
OR

6«

12”7 0.C.
SPACING

12" 0.C.
@ & @ SPACING
OR
6" 0.C.
SPACING ~_

-

SILL DETAL
/19" LOWER HEIGHT < 144 IN.

12" 0.C.
SPACING

SEP 0 3 2010

S)
®)
Q —
AN
< 0 s
O EB &
mm-m§|
=l o2 B T
= - o
Z|_._|‘—E a
z [ [ a Ll
x 8 > S
o =
| ¥ Z2Z
ge| | 3 3
gyl o £ ©
Ol © > ]
R N
Ewggm_ll_u
%Dz H 20
SEZl x A Z
MVJLIJ <
xZ| > N _
MED —
G2R8o| 2 T V0
D‘.‘C’.OLLJZ)
@¢3_|§O°3
)
O ¥ Z n
oS LB <
3 Z W
Ll o I
|(_')o
uI<Z,:
2 3
'_

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice
Registration No: 50923 / el




MANUAL QUADRANT ACTUATOR AS SHOWN

PNEUMATIC ACTUATOR.

N

5

0

(2

NOTE: DAMPER MAY BE OPERATED BY
MANUAL QUADRANT, AN ELECTRIC OR

ACTUATOR DETAIL
LOUVER HEIGHT < 144 IN.

®

3/ACTUATOR ASSY. AND 12" 0.C. THEREAFTER w
ALONG LENGTH OF ANGLE ITEM #44

PRODUCT REVISED

SEP 0 3 2010

o
O
S —
AN —
5 00 L ®)
O g
z O
o ol < B
27 |G = L
= IS T 2 Ll
=] [72] (2] (48]
ao
%dg S
y =
W 2e| & 35
oyl W -
SISEZR N 5
292 = <C
s 5
Wxz Q
@2mg| © =<
aa| < 3
@n.‘) | &/
0 _
O <C
> D
=
<C
=
L
I
=
I__

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www.rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090

L. David Rice
Registration No: 50923 / /

NAL B

it




s

0.156 o TO INSIDE OF SLEEVE

ACTUAL OVERALL LOUVER WIDTH,
ACTUAL LOUVER SECTION WIDTH

fegmie.

0.125 TYP, TO 0.375 —&= let— TO OUTSIDE OF SLEEVE ————

[s¢———————— LOUVER OPENING

JAMB DETAIL
21 LOUVER HEIGHT < 144 IN.

&

VCD-40

EHH-601D

©

= MW
4 wmu ==

SN OSASS NN SN

§®@@@

© © Of

\\\ NN NN NN NN

6" 0.C.
SPACING@—

_]UUUUUUUUULIUU

]

——— ACTUAL LOUVER SECTION WIDTH ———=

ACTUAL OVERALL LOUVER WIDTH

fms-——— ACTUAL LOUVER SECTION WIDTH ———

MULLION DETAIL
224\ LOUVER HEIGHT < 144 M.

\ EXPANSION JOINT OF UP TO 0.25 MAY
BE USED ON LONG OVERALL WIDTHS.

VCD-40

EHH-601D

18" 0.C.
SPACING é@

6/CONNECTION

—

6" 0.C. 69
SPACING

i

-1 MAX.4.250L—

&

\_ EXPANSION JOINT OF UP TO 0.25 MAY

BE USED ON LONG OVERALL WIDTHS.

——— ACTUAL LOUVER SECTION WIDTH ———~

ACTUAL OVERALL LOUVER WIDTH

fu-——— ACTUAL LOUVER SECTION WIDTH —

MULLION DETAIL
228 \ LOUVER HEIGHT < 96 IN.

&

SEP 0 3 2010

(@]
N
\ h
|
_
5 00 L‘—_Q
O%@
L(U%l
(f) - —
= D2 SR T
=L BT
s 3 |2 2 W
= (% I (%) Q
@)
< n
aol | ]
2243 A <
oLl © o
|:|£> Lud
w%v\ml—o
Loy = = Z
=1 <2 5
ke r @ O 9
ol WL = -
Wx2 = =3
Ryl 2 W w 2
gl O O > =
Ges Sz o
A 3952
@)
O m
I >
T <
YT -
=L
=

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization; #9090
L. David Rice

Registration No: 50923 S




@]
O
NS
@] N '
L Q
e ~—
QO g O
2 |
2 = O g
= [| ™ Z — z T
A — <
MULLION END CAP NOT SHOWN FOR CLARITY = |3 & = Lol
=] (%] (%] (@]
MULLION END CAP NOT SHOWN FOR CLARITY
O
18" 0.C. urd N
- SPACING /@ 4@ - —
SPAC RS -
s
it ;',’uﬂummmn? SN Wt {" H % ¥E H C|) 8 8 'E
6" 0.C LN || /] IU\'LI'] LEL 2 = LIDJ
SPACING ] %4 S~ ~
/ 7 Lo = w
/1 A Tp] - =
5 / ¢ = o
\\ /] 4 IU\-LI Yol W (ZD —_
' 16 Z <2 > £ o
od D) D)
- VCD-40 7 /] Qe a0 =
? 4 VCD-40 o4 O n
12" 0.C. / @ axl < D
SPACING @ O -
T 1 [ Q D Z
==3 é - § é g - =z <
<~ —— 6" 0.C. - o'c’@/ S Z
ALTERNATE ORIENTATION — | SPACING SPACING O E m
(CAUTION, BOLT CLEARANCE) EHH—601D EHH—601D C :I|: o) <§E
wr © -
g R
'_
SUBSTRATE LIMITED TO WOOD,
STEEL, CONCRETE AND MASONRY R I C E
(CMU) (BY OTHERS). ENGINEE NG
r_
‘£ ‘_=1 ll < 1'£ 105 School Creek Trail
L— Luxemburg, W1 54217
0125 TYP, TO 0.375 —= AL TOVER SECTIoN wioTi ——— ®/ EXPANSION JOINT OF UP TO 0.25 MAY Phone: 920.845.1042
leg———————— LOUVER OPENING —————— BE USED ON LONG OVERALL WIDTHS. ol le—0280 Fax: 92.0.845.]048
~———— ACTUAL LOUVER SECTION WIDTH ACTUAL LOUVER SECTION WIDTH ———— ACTUAL LOUVER SECTION WIDTH ACTUAL LOUVER SECTION WIDTH www rice-inc.com
i e Florida Firm No: F-01000005061
JAMB DETAIL MULLION DETAL st Iy 24p | LOUVER HEIGHT < 86 IN. Certificate of Authorization: #9090
73 LOWVER HEGHT < 144 IN. @ LOUVER HEIGHT < 144 1N, W L. David Rice /
W Reg|s’rrohon No: 50923 4
2 ‘-. 4y " “‘Q“»'Q\\
Tl 1 N
/ / lij/ Q i‘i AL E"g\“\\
SEP 0 3 2018 Yr e




NOTES:

1. OTHER SHAPES MAY APPLY PROVIDING THEY ARE
SIMILAR TO THOSE SHOWN AND HAVE CORNER
CONSTRUCTION AS DESCRIBED ON ALL SHEETS.

2. ALL SHAPED LOUVER PANELS ARE RESTRICTED TO
THE SAME PANEL WIDTH AND PRESSURE AS THE
RECTANGULAR LOUVER PANELS AND MAY BE STACKED
VERTICALLY AND HORIZONTALLY THE SAME AS THE
RECTANGULAR PANELS.

3. WHEN SECTIONS EXCEED 36” IN LENGTH BLADE
SUPPORT ANGLE AND BRACKETS ARE REQUIRED.

AVAILABLE SHAPES

e =
=

S =

Jr
A
A

SEP 0 3 2010

o
o
N —
Q)
< 0 L | 5
O g &
% ; z |
=y 2 g T
=z L E a _L
: B a L
= [%] (%] Q
%do
a3 o
@E? ~ %)
I Lt
oY > () ol
(/JV
E nl oD @) <
oo o ~ T
- Z
@vﬁ e 2
mo = —
Gt o @
I <ZE =
L >
T ~ <C
Lt
=
Ll
|
’_
=
ENGINEERING

105 School Creek Trail
Luxemburg, Wi 54217
Phone: 920.845.1042

Fax: 920.845.1048
www lice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923 7/ /




*EMBEDMENT DEPTH IS EQUAL TO OVERALL FASTENER LENGTH FOR CONCRETE/CMU FASTENERS.
IF SHIMS ARE USED, FASTENER LENGTH MUST BE INCREASED BY THICKNESS OF SHIMS.

ITEM DESCRIPTION MATERIAL NOTES ITEM | CONCRETE | CMU [STEEL|wOOD]  MIN. | FASTENER TYPE ALL FASTENERS ARE STEEL OR STAINLESS 9
1 LOUVER HEAD 6063-T5 ALUMINUM Sz | JAMB PERIMETER ANGLE FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.* o
2 LOUVER BLADE 6063-T5 ALUMINUM 2.125" MAX. SPACING 52A X 2KSI *POWERS WEDGE BOLT” 3/8 | VARIES| 6.00 | 1215 | 3.500 ~
3 LOUVER SILL 6063-T5 ALUMINUM S2B X 4KSI *POWERS WEDGE BOLT” 3/8 |VARIES| 600 | 1215 | 3.500 N T
4 LOUVER JAMB 6063-T5 ALUMINUM 52C X 2KST SCOTS TAPCON / TAPCON 174 |VARIES| 475 | 1500 | 1750 To) N =)
5 LOUVER/DAMPER FLANGE 6063-T5 ALUMINUM 52D X 4KSI SCOTS TAPCON / TAPCON 174 |VARIES| 600 | 1500 | 1750 L ON
3 FORMED SLEEVE 5052-H32 ALUMINUM 1/8° FORMED SLEEVE-DEPTH VARIES SeE X L.5KSI SCOTS TAPCON / TAPCON 174 |VARIES| 3.00 | 1500 | 1750 '<T:\ L A
7A 1 1/2 X 1 1/2 X 1/4 ANGLE 6063-T5 ALUMINUM BLADE SUPPORT ANGLE SeF X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 [VARIES| 6.00 | 0500 | 0125 = 9 . O
7B 11/2 X 1 1/2 X 1/4 ANGLE 6063-15 ALUMINUM USED AT HEAD/SILL/JAMBS OF SLEEVE | [ 352G X | SG 0.42 LAG 3/8 | VARIES| 6.00 | 1500 | 2375 O S ©
8 1 1/2 X 6 X 1/8 ANGLE 6063-T5 ALUMINUM JAMB ANGLE S3 | MULLION END PLATE FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.* 9
9 1 1/2 X 1 1/2 X 1/8 ANGLE 6063-TS ALUMINUM USED AT HEAD/SILL/JAMBS OF LOUVER| [ 53A X 2KSI *POWERS WEDGE BOLT” 3/8 | 8/END | 150 | 175 | 3500 N .00 |2 |
10 11/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT HEAD/SILL OF SLEEVE FLANGE| | 53B X 4KSI *POWERS WEDGE BOLT” 3/8 | 8/END | 150 | 175 | 3.500 - L g > T
1 3 X 6 X 5/16 STEEL TUBE A36 53C X 2KSI SCOTS TAPCON / TAPCON 1/4 9/END | 200 | 150 | 1685 A S — |
12 1 1/2 X 1 1/2 X 1/8 ANGLE 6063-T5 ALUMINUM USED AT SILL AS BACK OF SILL PAN S3E X 4KSI SCOTS TAPCON / TAPCON 1/4 8/END | 200 | 150 | 1625 z5 w5 a _L
13 LOUVER BLANK OFF 6063-T5 ALUMINUM IF REQUIRED, SPANS SILL OPENING 53F X 65KST Fy|BOLT/NUT OR TAPPING SCREW| 1/4 8/END | 100 | 050 [ 0125 2 |2 | a L
14 DAMPER HEAD/SILL 6063-T5 ALUMINUM 53G X | SG 0.42 LAG 3/8 | 77END | 150 | 175 | 2375 | GROUP ¥ 2 |5 S
15 DAMPER JAMB 6063-T5 ALUMINUM S4 | MULLION ANGLE MOUNT FASTENER, HEIGHT <=144 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.*|CENTER
16 DAMPER BLADE 6063-T5 ALUMINUM 3.75 MAX. SPACING S54A X 2KSI *POWERS WEDGE BOLT’ 3/8 | 12/ANG.| 3.375 | 2.250 | 3500 | 3.766
17 DAMPER BLADE SEAL SILICONE/RUBER TYPE MATERIAL VARIES S4B X 4KSI *POWERS WEDGE BOLT” 3/8 | 9/ANG. | 3.375 | 2.250 | 3500 | 3.766 —
18 DAMPER JAMB_SEAL SS 54C X 2KSI SCOTS TAPCON / TAPCON 174 | 32/4NG,| 2000 | 1500 | 1750 | 3.375 So z
19 DAMPER TOP/BOTTOM CLOSURE ALUMINUM 54D X 4KSI SCOTS TAPCON / TAPCON 174 |27/aNG.| 2000 | 1.500 | 1750 | 3375 % g 5 =
20A DAMPER LINKAGE BAR GALV. STEEL S4E X 1.5KSI SCOTS TAPCON / TAPCON 174 |32/ANG,| 2.000 | 1,500 | 1.750 | 3.375 S O o =
208 DAMPER LINKAGE BAR SS S4F X G5KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| 1000 [ 0500 | 0425 | 3.000 @ L \Io v < = e
21A DAMPER AXLE BUSHING DELRIN 54G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |11/ANG.| 1000 | 0500 | 0.188 | 3.000 m Ex O | L
21B DAMPER AXLE BUSHING BRONZE S4H X G5KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 |16/ANG.| 1000 | 0500 | 0.88 | 3.766 oY S ] |'<T:
21Cc DAMPER AXLE BUSHING SS 541 X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 5716 [12/ANG.| 1000 | 0.625 | 0125 | 3.000 E Z E 3 OS2 =
22A | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/DELRIN BUSHING S54J X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 5/16 |16/ANG.| 1000 [0625 | 0125 | 3.766 % o O > 2
22B | NON-DRIVE DAMPER AXLE ASST. |ZC STEEL PIN W/BRINZE BUSHING 54K X | SG 0.42 LAG 3/8 |16/ANG.| 1500 | 1500 | 2.875 | 3.766 m = ~ O L
22C | NON-DRIVE DAMPER AXLE ASST. | ZC STEEL PIN W/ SS BUSHING S4L X | SG 0.42 LAG 3/8 | 11/ANG.| 1500 | 1500 | 2875 | 3.000 2 o D S
22D | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ DELRIN BUSHING S5 | MULLION END PLATE FASTENER, HEIGHT <=96 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.* m é gl o ~ Z
22E | NON-DRIVE DAMPER AXLE ASST. | SS PIN W/ BRONZE BUSHING PRODUCT REVISED S5 X 2KSI *POWERS WEDGE BOLT” 3/8 | S/CAP | 150 1.6 | 3.500 @ mYl Z = =
22F | NON-DRIVE DAMPER AXLE ASST. SS PIN W/ SS BUSHING as-complying with the Floride SSB X 4KSI *POWERS WEDGE BOLT” 3/8 | 5/CAP | 150 16 | 3.500 @ o? S Z 0
23A | DRIVE SIDE DAMPER AXLE ASST. ZC/GALV. STEEL alidine Cods 55C X 2KSI "POWERS WEDGE BOLT” 3/8 | 5/CAP | 200 | 175 | 3.500 o3 o0 O =
23B | DRIVE SIDE DAMPER AXLE ASST. SS Acccptance No [0~ 7 21 /¢ SSD X 4KSI *POWERS WEDGE BOLT’ 3/8 | 5/CAP | 200 | 175 | 3500 | Z O aa
24A 1/4 DIA. E-CLIP ZP ExpirstionDete [[/[/ (/27 [ SSE X 2KSI SCOTS TAPCON / TAPCON 174 6/CAP | 200 | 150 | .750 < N
24B 1/4 DIA. E-CLIP SS > S5F X 4KSI SCOTS TAPCON / TAPCON 1/4 6/CAP | 200 | 150 | 1750 L L %
25 #8 X .75 TPH TYPE AB SMS SS By - 55G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 3/CAP | 100 050 | 0125 T ~ > E
26 %14 X .75 TEK ZP Diais S5H X | SG 0.42 LAG 3/8 | S5/CAP | 150 | 175 | 2375 [ GROUP L = W o
274 1/4-20 X 125 HH CS ZP ' 56 | MULLION ANGLE MOUNT FASTENER, H<=96 DIAMETER| # RQD. |CENTERS| EDGE |EMBED.*|CENTER Ll =
27B 1/4-20 X 15 HH CS SS 564 X 2KSI *POWERS WEDGE BOLT’ 3/8 | 4/ANG. | 3.375 | 225 | 3500 | 3.766 L —
284 1/4-20 SF_NUT ZP 56B X 4KSI *POWERS WEDGE BOLT” 3/8 | 3/ANG. | 3.375 | 225 | 3500 | 3.766 3 0
288 1/4-20 SF_NUT SS 56C X 2KSI SCOTS TAPCON / TAPCON 174 | 11/ANG. | 2.000 | 150 | 1.750 [ 3375 =
29 REINFORCING STRAP 18-8 SS S6D X 4KSI SCOTS TAPCON / TAPCON 174 | 9/ANG. | 2000 | 150 | 1750 | 3.375 =
30 1/4-20 X 562 BALL SWIVEL ZP S6E X 1.5KSI SCOTS TAPCON / TAPCON 174 | 11/ANG. | 2.000 | 150 | 1750 | 3.375
31A | DAMPER BLADE DRIVE LEVER SS S6F X G5KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 7/ANG. | 1000 | 050 | 0425 | 3.766 R I C E
31B | DAMPER BLADE DRIVE LEVER GALV. STEEL 56G X 65KSI Fy|BOLT/NUT OR TAPPING SCREW| 1/4 | 6/ANG. | 1000 | 050 | 0125 | 3.000 Eld et
32 DAMPER MANUAL QUAD ASSY. S6H X | SG 0.42 LAG 3/8 | 5/ANG. | 1500 | 150 | 2875 | 3.766 ENGINEERING
33 5/16 DIA. LINKAGE ROD ZP 561 X | SG 0.42 LAG 3/8 | 4/4NG. | 1500 | 150 | 2.875 | 3.000 105 School Creek Trail
34 | #10 X 3/4° TPH SMS 18-8 SS 18-8 SS GENERAL NOTES: Luxemburg, W1 54217
35 ¥10 X 1 1/4° SMS 316 SS 316 SS 1. IT SHALL BE THE RESPONSIBILTY OF THE PERMIT HOLDER TO VERIFY THE STRUCTURAL INTEGRITY OF THE EXISTING STRUCTURE TO SUPPORT THE Phone: 920.845.1042
36 1/4° DIA. SS SCREW 1 1/2° LONG LOADS IMPOSED BY THE LOUVERS. . oon
3 173" DIA_SS SCREW " LNG 2. THE EHH—601D AND EHH—601D/VCD—40 HAVE BEEN DESIGNED AND TESTED IN ACCORDANCE WITH THE FLORIDA BUILDING CODE (FBC) AND TEST Fax:  920.845.1048
PROTOCOLS TAS—201 (IMPACT), TAS—202 (UNIFORM STATIC PRESSURE), AND TAS-203 (CYCLIC FATIGUE). THE EHH-601D/VCD—40 HAS BEEN TESTED www rice-inc.com
:?:A 1/81;E£]IJA.L§:IN]; I;;\S/ET ALUMINUM IN ACCORDANCE WITH TAS—100(A)—95 (WIND DRIVEN RAIN).
D SH NOT BY GREENHECK 3. MAXIMUM SINGLE SECTION SIZE IS 72" WIDE X 144" HIGH. - _
398 SEALANT_AND BACKER RUD NOT_BY GREENHECK g' géé'll'hI‘(;JNM AsFzS Ex‘sBLéMDBLOUVEARYSlBZg SEA(l:JEUM'\T/EgTme XP1 g/';DngHA UITABLE STRUCTURAL SUPPORT IS DESIGNED AND INSTALLED BY OTHERS TO gzr;fcijf?czfrzcﬁiuﬁhoc:r(i)zcg?ggpﬂ%?o
40 S 174 X 2 X _1/4 ANGLE 6063-T5_ALUMINUM USED AT JAMB OF LOUVER/SLEEVE | > SECTIONS OR ASSEMBLIES MAY B STACKED JERTICALLY PROVIDING A SUTABLE STRUCTURAL RT IS DESIGNED AND . bavid Rice '
41 4" CHANNEL 6061-T6 ALUMINUM USED AT JAMB OF LOUVER/SLEEVE | 6. CONCRETE MASONRY SHALL BE ASTM €90, TYPE fl, 2,000 PSI GROUT-FILLED. Pt . / /
a2 MULLION SLEEVE BRACKET S052-H32 ALUMINUM 7. THE SLEEVE MOUNT STYLE LOUVER UTILIZES AN ANCHORLESS INSTALLATION METHOD THAT DOES NOT REQUIRE THE USE OF FASTENERS INTO THE Registration No: 50923 “
43 11/4 X 1 1/4 X 1/8 ANGLE 6063-T5 ALUMINUM MIN SIZE, JAMB ATTACHMENT ANGLE ,33?552?}%.,.,}} Lo SFR&STLAR';{'ED,N%G’ETFY %’ESTLR.;‘T;{E%!'EEL WITHSTAND THE LOADS TRANSFERRED TO IT BY THE LOUVER. GREENHECK DOES
44 SILL DAM ALUMINUM 8. THE CONTINUOUS ANGLE MOUNT STYLE UTILIZES A CONTINUOUS JAMB ANGLE THAT IS ATTACHED TO THE SUBSTRATE BY FASTENERS. IT MAY BE
o BCADE SUPPORT, DPTIONAL £063-T5 ALUNINGM ::?gékﬁ (I)t:_ g‘ggcggarg% R(/:#g s%f%ugg. WOOD ACCORDING TO THE FASTENER SCHEDULE. GREENHECK DOES NOT DETERMINE THE STRUCTURAL
46 STEEL MULLION END CAP (SM) STEEL FACTORY WELDED TO MULLION 9. LOUVER ASSEMBLY IS QUALIFIED FOR A MAXIMUM DESIGN LOAD OF +/~ 150 PSF.
27 | ALUMINUM MULLION END CAP <SM) 5052-H32 ALUMINUM FACTORY WELDED TO MULLION 10. LOUVER ASSEMBLY WITHOUT VCD—40 DAMPER SHALL ONLY BE INSTALLED IN A LOCATION WHERE THE ROOM BEHIND THE LOUVER IS DESIGNED TO
45| STEEL WULLIN END G 00 FACTORY VELIED TO MULLIGN |, ORAN WATER PENETRTNG 0. RCQM A e Foqu, L HOUSE, ATEE AT/ UTES,PRO0T EQUIENS, COUPONTS, OF SUPP s
49 ALUM MULLION END CAP <LG) 5052-H32_ALUMINUM FACTORY WELDED TO MULLION DRAIN WATER PENETRATING INTO THE ROOM OR THE ROOM WILL HOUSE NON—WATER RESISTANT/WATER PROOF EQUIPMENT, COMPONENTS, OR
S0 |MULLION MOUNTING ANG. BRACKET| STEEL 36 KSI, OR 6061-T6 MULLION MOUNTING ANGLE, H<144 SUPPLIES. LOUVER ASSEMBLY WITH VCD DAMPER INSTALLATION IS LIMITED TO AN ELEVATION OF 33 FT ABOVE GRADE.
1 /47 DIA THREAD STUD SS OR PLATED STEEL 1757 MIN. LONG 12. INSTALLER TO PROVIDE SEPARATION OF DISSIMILAR MATERIALS AS REQUIRED.

13. THE VCD—40 MAY BE OPERATED BY THE MANUAL QUADRANT SHOWN ON PAGE 14/21 OR BY AN ELECTRIC OR PNEUMATIC ACTUATOR. THE DAMPER'S
ACTUATOR IS NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING AGENCY.

14. FRAME CONSTRUCTION. HEADS AND SILLS ARE SQUARE CUT. JAMBS SQUARE CUT @ HEAD AND SILL. CORNERS ARE SECURED WITH (2) #10x1-1/4
SMS AND SILICONE SEALED. BLADES ARE SECURED TO JAMBS WITH (2) #10x1—1/4 SMS AND WELDED © EACH END.

15. STEEL/STAINLESS—STEEL/ALUMINUM PARTS MAY BE MADE OUT OF ALTERNATE ALLOY THAT HAS EQUAL OR GREATER YIELD STRENGTH.

16. BLADE SUPPORT ANGLE (AND OPTIONAL BLADE SUPPORT BRACKETS) ARE ONLY REQUIRED WHEN ACTUAL LOUVER SECTION WIDTH IS GREA1§EIJHAH
36 INCHES. 3




]

5.723

LOUVER HEAD
6063—-T5 ALUMINUM

@

—{j=— 0.074

i

@L

OUVER/DAMPER FLANGE

1

?—> LOSOZ

1.741

l — =— 0.250
3
f

1.500 l'

5.723

LOUVER BLADE

6063—T5 ALUMINUM

|<——' 2.786 —

LOUVER JA

6.000

= ()

LOUVER SILL

—o = 0.081

6063—-T5 ALUMINUM

MB

SUPPORT_ANGLE

6063—-T5 ALUMINUM

L

0.125

RT &

6063—-T5 ALUMINUM

MOUNTING AN

GLE

6063—-T5 ALUMINUM

i

6.000

LOUVER BLADE SUPPO
@ SLEEVE

~—— 3.000 ———

& ANONUNN NN NN NN NN \\\
A

0.313 —

N
N

N
\

STEEL TUBE
A36

@

N
N 9
N AN

(2

=— 0.125

——

T

LOU
PA

6.000

1
—= 1.500 L

1.500 L

VER SILL
N _ANGLE

6063—T5 ALUMINUM

->l 1.638 r;

LOUVER JAMB

6063—-T5 ALUMINUM

~— 0.125

——— 1

1.500 l'

ER SLEEVE

MENT ANGLE

6063—-T5 ALUMINUM

0.040

LOUVER BLANK—OFF

O

6063—T5 ALUMINUM

0.121 —>‘II:—

5.910

D

—=1 1.250 l<—~
i —

o

o

o

©

— [— 0.125
L

OPTIONAL JAMB

6063—T5 ALUMINUM

1.500 L

LOUVER SLFEVE FLANGE
SUPPORT ANGLE

6063—-T5 ALUMINUM

PRODUCT REVISED
- mplyé?‘e with the Florida

SEP 0 3 2010

O
O
g —
=
=
5 00 L O
QO g
2 ©
2 |
% . O B
sl S 22 T
=4l P T
5 |2 2 Ll
a » v [&]
'_.
%‘jg 5
< 20
SEr o« 27
=2 & = L o
<
AE & >(f)8L|_l
s R —
EEEOQ o
2 228
ol O =
@ga‘—zio-
)
| © 2 <
Iy o
I
>
Ll
L
o=
—
.5 %
=
l_

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice
Registration No: 50923 ,

o




’<*—— 4.000
-

<'—4>1— 1.000

l<'— 0.875

0.081
i

_
=

DAMPER HEAD/SILL

6063~

TS5 ALUMINUM

<— 0.125

DAMPER LINKAGE BAR
MATERIAL VARIES

@)

LOUVER JAMB
SUPPORT ANGLE

6063—T5 ALUMINUM

|<— 0.250
—

|
l»
(9

— 2500 —]

DAMPER JAMB

6063—T5 ALUMINUM

(),

0.062 —=

4.000

DAMPER_BLADE

0.618
0.376

e
DAMPER AXLE BUSHING (.445" LG.)

MATERIAL VARIES

LOUVER JAMB
SUPPORT CHANNEL

6061—T6 ALUMINUM

-?_ l<»———— 5.250 —————=

1.250 ‘4—%

I<l— 0.125

—=

1.250 |<'*

LOUVER JAMB
ATTACHMENT ANGL

6063—-T5 ALUMINUM

m

0.063 —!>”<r‘_—i

0.750 —=|

— 2.000 L—
—= 1.584 I<'~

_

I

">‘ 1.000

DAMPER SILL DAM

ALUMINUM

OPTIONAL BLADE
SUPPORT_BRACKET
6063—-T5 ALUMINUM

=+— 0.655

6063—T5 ALUMINUM

0.317 310

m 0.479

VARIES

i

—

DAMPER BIADE SEAL
MATERIAL VARIES

)

.007" SS

0.375

_L|<s—— 3.620 —j
),
—Q— ™ PIN

BUSHING

RETAINING RING
MULLION SLEEVE BRACKET
5052—-H32 ALUMINUM

NON—DRIVE DAMPER AXLE ASSY.
MATERIAL VARIES

DAMPER JAMB SEAL

1.061
0.061

-

1

—->| l<— 0.219

SEAL

17

DAMPER TOP/BOTTOM

R

2.125

CLOSURE
ALUMINUM

P/'KNURL PIN

)

5

AN

3.620 —*>I 15
i

\ PIN

LEVER

DRIVE—SIDE DAMPER AXLE ASSY.

A28/ 154"

MATERIAL VARIES

PRODUCT REVISED

SEP 0 3 2010

O
S
\ NS
2N
-
= 0 L‘—_Q
O Eg &
o g |
(/) - —
=y ZE gL
z“lu | QI
s o o
s 5 |t g L
CDZ(/)U) Q
. —
a2 5
SE 3¢
R R
A3 = v 3 W
=c. 03~ ¢
=zl O O 0
w2 D228
Z
ocHg| 2 E
Gz g 2
“3 5 0 Qk
| © 2 <
To e
oo
L =
w —
4 )
=
|_

ENGINEERING

105 Schoo! Creek Trail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm No: F-01000005061
Certificate of Authorization: #9090
L. David Rice Vi
Registration No: 50923




1584 | < LENGTH =] ©
| ALUMINUM - CENTERED N
MULLION DRAIN HOLE FOR PAINT PROCESS Q —
LOCATION r A [‘*B “>’ e N
LN O
'_\ —
d A < 00 L ®
2 4 T O O fF o o o O Sk Q2
o 3 'H_V__
3 ! 1787535 c | © |
B B | nl Ng — &
Yo/ STEEL | O O sl o2 oy g L
MULLION | ZEL.J‘_E ¥ T
= QUANTITY VARIES WITH LOCATION | z 2 a L
O FASTENER TYPE | PER|ME|'ER WELD % ) (%] [&8)
ALUMIFLM MDLLION EHD. CAF © QUANTITY VARIES WITH |
5052—H32, 0.25 ALUMINUM FASTENER TYPE I S =
FIELD DRILLED | =
Z = < O o
LIFTING LUG _\]L___ + + | %E? o I
A ‘ g W2 & =
STEEL MULLION END CAP ' 1 % T T T T & Eag S 5 8 l_l(f)_l
FOR SLEEVE MOUNT : nl 5 5 <2
0.313 STEEL ? '::BDI EQZ OIS = L
— A [72) < = |
L 2 D O
(33) e B TG LS : Wxd 2 J &
A 20.375/0.50 FOR 1/48 FASTENER IN ALUMINUM/STEEL 0.313 STEEL N 1 /4N TomeN o LB 6.0 > CEagl = E = O
A 20.563/0.75 FOR 3/8¢ FASTENER IN ALUMINUM/STEEL FILLER =747 o oo iven = ' = _e,_ G5 o Z —
B >FASTENER SPACING DISTANCE TOUVER (66| © Q9O
C  2FASTENER CLEARANCE HOLE DIAMETER - —1}' | © =2 <
D  >FASTENER SUBSTRATE EDGE DISTANCE - LENGTH - T D < n
GROUP CENTER = CENTER OF FASTENER HOLE PATTERN SUBSTRATE EDGE WELD BREAK ALLOWED z |, I >~
] e /YAT GUSSET(S) =9 1/aNa W=
-, o |u O FILLER L
= LENGTH ] W —— = S g /4 N T
----- %)
—={ A ’« B —~>1 QUANTITY VARIES WITH o GUSSET SUPPORT 2 =
\5 /_ x o | EXTRUDED ANGLE OR (IF REQUIRED) TWO WELD STYLE -
A E D o WELDED PLATES 4"x4” TRIANGLE VARIES —o |o— OPTIONS
O g ONE AT CENTER %2, > RICE
(1] I —
? ALUMINUM . % OR ONE NEAR EACH END S TOUVER LEG | —————-——ENGINEERING
O NV A S 231 % w tousser,” e 105 Schosl Cresk il
= ké ) ?/ o O 7 174 = Luxemburg, WI 54217
o O © B/;/ C g / ]\TOT N T LENGTH\ Phone: 920.845.1042
+ @ SUBSTRATE EDGE K Fax:  920.845.1048
ﬂ_ _Z_— FIELD DRILLED \j] l-l-/\/ B g 1;il|>i <-‘||_LER www rice-inc.com
I / E o
A Cerfificate of Authorization: #9090
| | /' B2 FASTENER TYPE \\O Certficate o
ILLER MAT'L. egistration No:
L A I:B ">I \_ SXSATI\IIEELYR VTAYF?’DIES WITH A O glk—lleEW\l\/llExYI'S I;\LUM=4O43 OR 5356 Registration No: 50923 7 ~
l} Fd 1/2 SCALE STEEL=E70XX
ALUMINUM_MULLION END CAP “=la B MULLION MOUNTING BRACKET — ==—
FOR _CONTINUOUS ANGLE MOUNT FOR CONTINUOUS ANGLE MOUNT
5052-H32, 0.25 ALUMINUM VARIES, SEE B.O.M. & TABLES BELOW ]
MULLION MOUNTING BRACKET TABLE, 1 OF 2 MULLION MOUNTING BRACKET TABLE, 2 OF 2 é
LOUVER |SUBSTRATE| LOUVER [GUSSET[MIN CUT| MATL | PROCESS LOUVER|SUBSTRATE| LOUVER |GUSSET|MIN CUT| MAT‘L | PROCESS :2
HEIGHT | LEG THK. |LEG THK.| THK. [LENGTH| TYPE TYPE HEIGHT [LEG THK. [LEG THK.| THK. |LENGTH!| TYPE TYPE E
<144 21/2 21/2 NA 16,5 |6061-T6|EXTRUDED <96 21/2 21/2 NA 6.6 6061-T6 |[EXTRUDED 3
S144 27/16 27/16 NA 24 A36 ROLLED <96 23/8 23/8 NA 12.34 STEEL | ROLLED
<144 21/2 21/2 NA 18,5 A36 ROLLED <96 27/16 27/16 NA 9 STEEL | ROLLED
S144 25/16 21/4 25/16 20 6061-T6| WELDED $96 25/16 21/4 25716 9 6061-T6| WELDED 4q
<144 25/16 23/16 25/16 20 STEEL | WELDED <96 25/16 23/16 25/16 9 STEEL | WELDED SEP 0 3 2010






